

Some Fixed Point Results in Complete b-metric spaces

Vimlesh Kushwaha¹ and D.P. Shukla²

¹*Ph.D. Research Scholar in Mathematics, Govt. Model Science College, Rewa (M.P.),
486001, India.*

²*Dept. of Mathematics/Computer Science, Govt. Model Science College, Rewa (M.P.),
486001, India. (Affiliated to A.P.S. University, Rewa 486003, India)*

Abstract

The purpose of this paper is to obtain unique fixed point theorems for in b-metric space which satisfies the earlier result of the Czerwik, s[6] Kir, Mehmet, Kiziltune, Hukmi [8] and several examples are discussed. In this paper we show that different contraction type of mapping exist in b-metric space.

Keywords: Unique fixed point, Complete b-metric spaces, Contractive mapping

2000 Mathematical Subject Classification: 47 H 10, 54 H 25

1. Introduction:

Fixed point theory is very good combination of functional analysis, real analysis, topology and geometry. Theory of fixed point is one of the most powerful tools in mathematics existence and properties of fixed point is known as fixed point theorems. Fixed point theory has been applied in such field as mathematics, mathematical sciences, physics, mathematical physics, chemistry, biological sciences economics, game theory, engineering, medical sciences, computer sciences.

The concept of b-metric space by Bakhtin [2] in 1989, Czerwik [6] extended the results of b-metric spaces in 1993. Using this idea by many mathematician presented generalization of the renowned Banach of fixed point theorems in the b-metric space.

Bota [4], Boriceanu [5], Czerwik, s[6], Mehmet Kir [7], Pacurar [8] and Swati et al [1] extended the fixed point theorems in b-metric space. Czerwik, [6] first presented first presented a generalization of Banach of fixed point theorem in b-metric spaces.

2. Preliminaries and Definitions:

Definition 2.1

Let X be a non-empty set and A function $d: X \times X \rightarrow \mathbb{R}$ is called a b-metric on X if and only if the following properties holds:

[m₁] : $d(x,y) = 0$ if and only if $x = y$;

[m₂] : $d(x, y) = d(y, x)$ for all $x, y \in X$;

[m₃] : $d(x,y) \leq d(x, z) + d(z, y)$ for all $x, y, z \in X$.

then (X,d) is called a metric space on X .

Example 2.1

Let E_n (or \mathbb{R}^n) = $\{x : (x_1, x_2, \dots, x_n), x_i \in \mathbb{R}, \mathbb{R}$ the set of real numbers} and Let d be defined as follows: if $y = (y_1, y_2, \dots, y_n)$ then

$$d(x, y) = (\sum_i^n |x_i - y_i|^p)^{\frac{1}{p}} = dp(x, y)$$

where p is a fixed number in $[1, \infty)$.

Definition 2.2

Let X be a non-empty set and $s \geq 1$ be a given real number. A function $d: X \times X \rightarrow \mathbb{R}_+$ is called a b-metric provided that for all $x, y, z \in X$

(1) $d(x,y) = 0$ if and only if $x = y$,

(2) $d(x, y) = d(y, x)$,

(3) $d(x,y) \leq s[d(x, z) + d(z, y)]$.

A pair (X,d) is called a b-metric space it is clear that definition of b-metric space is an extension of usual metric space.

Example 2.2 [5]

Let $X = \{0, 1, 2\}$ and $d(2, 0) = d(0, 2) = m \geq 2$, $d(0,1) = d(1, 2) = d(1, 0) = d(2, 1) = 1$ and $d(0,0) = d(1,1) = d(2,2) = 0$.

then $d(x, y) \leq \frac{m}{2} [(d(x, z) + d(z, y))]$ for all $x, y, z \in X$.

if $m > 2$ then the triangle inequality does not hold.

Example 2.3

$$X = \{1, 2, 3\} \text{ and } d(1, 3) = d(3, 1) = m \geq 2$$

$$d(1, 2) = d(2, 3) = d(2, 1) = d(3, 2) = 1$$

and $d(1, 1) = d(2, 2) = d(3, 3) = 0$

Then $d(x, y) \leq \frac{m}{2} [(d(x, z) + d(z, y))] \forall x, y, z \in X$.

if $m > 2$ then the triangle inequality does not hold.

Example 2.4 [5]

The space $L_p[0, 1]$ (where $0 < p < 1$) of all real functions $x(t)$, $t \in [0, 1]$ such that $\int_0^1 |x(t)|^p dt < \infty$, is a b-metric space if we take

$$d(x, y) = \left(\int_0^1 |x(t) - y(t)|^p dt \right)^{\frac{1}{p}}, \text{ for each } x, y \in L_p[0, 1].$$

Definition 2.3

Let (X, d) be a b-metric space then a sequence $\{x_n\}$ in X is called convergent sequence if and only if there exists $x \in X$ such that for all there exists $n(\epsilon) \in \mathbb{N}$ such that for all $n \geq n(\epsilon)$ we have $d(x_n, x) < \epsilon$. In this case we write $\lim_{n \rightarrow \infty} x_n = x$.

Definition 2.4

Let (X, d) be a b-metric space. Then a sequence $\{x_n\}$ in X is called a Cauchy sequence if and only if for all $\epsilon > 0$ there exist $n(\epsilon) \in \mathbb{N}$ such that for each $n, m \geq n(\epsilon)$ we have $d(x_n, x_m) < \epsilon$.

Definition 2.5

The b-metric space is complete if every Cauchy sequence convergent.

3 MAIN RESULTS

Theorem 3. 1.

Let (X, d) be a complete b-metric space. Let T be a self mapping on X such that

$$d(Tx, Ty) \leq \alpha\{d(x, Tx) + d(y, Ty)\} + \beta\{d(x, Ty) + d(y, Tx)\} + \gamma\{d(y, Ty) + d(y, Tx)\} + \delta\{d(x, Ty) + d(y, Tx)\} \quad (1)$$

where $\alpha, \beta, \gamma, \delta > 0$ such that

$$\beta + \gamma + 2s\delta < 1, \forall x, y \in X \text{ and}$$

$s \geq 1$ then T has a unique fixed point.

Proof:

Let $x_0 \in X$ and $\{x_n\}_{n=1}^{\infty}$ be a sequence in x defined by the recursion.

$$x_n = Tx_{n-1} = T^n x_0 \quad \forall n \in \mathbb{N}$$

$$d(x_n, x_{n+1}) = d(Tx_{n-1}, Tx_n)$$

$$\leq \alpha\{d(x_{n-1}, Tx_{n-1}) + d(x_n, Tx_n)\} + \beta\{d(x_{n-1}, Tx_{n-1}) + d(x_n, Tx_{n-1})\}$$

$$+ \gamma\{d(x_n, Tx_n) + d(x_n, Tx_{n-1})\} + \delta\{d(x_{n-1}, Tx_n) + d(x_n, Tx_{n-1})\}$$

$$\alpha d(x_{n-1}, Tx_{n-1}) + \alpha d(x_n, Tx_n) + \beta d(x_{n-1}, Tx_{n-1}) + \beta d(x_n, Tx_{n-1})$$

$$+ \gamma d(x_n, Tx_n) + \gamma d(x_n, Tx_{n-1}) + \delta d(x_{n-1}, Tx_n) + \delta d(x_n, Tx_{n-1})$$

$$\alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1}) + \beta d(x_{n-1}, x_n) + \beta d(x_n, x_n)$$

$$+ \gamma d(x_n, x_{n+1}) + \gamma d(x_n, x_n) + \delta d(x_{n-1}, x_{n-1}) + \delta d(x_n, x_n)$$

$$\alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1}) + \beta d(x_{n-1}, x_n) + \gamma d(x_n, x_{n+1}) + \delta d(x_{n-1}, x_{n-1})$$

$$d(x_n, x_{n+1}) \leq \alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1}) + \beta d(x_{n-1}, x_n) + \gamma d(x_n, x_{n+1}) + \delta d(x_{n-1}, x_{n-1})$$

$$d(x_n, x_{n+1}) \leq \alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1}) + \beta d(x_{n-1}, x_n) + \gamma d(x_n, x_{n+1})$$

$$+ \alpha \delta s \{d(x_{n-1}, x_n) + d(x_n, x_{n+1})\}$$

$$d(x_n, x_{n+1}) \leq \alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1}) + \beta d(x_{n-1}, x_n) + \gamma d(x_n, x_{n+1})$$

$$+ \delta s d(x_{n-1}, x_n) + \delta s d(x_n, x_{n+1})$$

$$d(x_n, x_{n-1}) \leq \alpha d(x_{n-1}, x_n) + \alpha d(x_n, x_{n+1})$$

$$+ \beta d(x_{n-1}, x_n) + \gamma d(x_n, x_{n+1})$$

$$+ \delta s d(x_{n-1}, x_n) + s \delta d(x_n, x_{n+1})$$

$$\begin{aligned} d(x_n, x_{n+1}) &= \alpha d(x_n, x_{n+1}) + \gamma d(x_n, x_{n+1}) + \delta s d(x_n, x_{n+1}) \\ &\leq \alpha d(x_{n-1}, x_n) + \beta d(x_{n-1}, x_n) + \delta s d(x_{n-1}, x_n) \end{aligned}$$

$$(1 - \alpha - \gamma - \delta s) d(x_n, x_{n+1}) \leq (\alpha + \beta + \delta s) d(x_{n-1}, x_n)$$

$$(1 - \alpha - \gamma - \delta s) d(x_n, x_{n+1}) \leq (\alpha + \beta + \delta s) d(x_{n-1}, x_n)$$

$$d(x_n, x_{n+1}) \leq \left(\frac{\alpha + \beta + \delta s}{1 - \alpha - \gamma - \delta s} \right) d(x_{n-1}, x_n)$$

$$d(x_n, x_{n+1}) \leq k d(x_{n-1}, x_n)$$

$$\text{where } k = \frac{1 - \beta + \delta s}{1 - \alpha - \gamma - \delta s} < 1$$

$$\Rightarrow d(x_n, x_{n+1}) \leq k d(x_{n-1}, x_n)$$

$$\Rightarrow d(x_n, x_{n+1}) \leq k^2 d(x_{n-2}, x_{n-1})$$

continuing this process, we have

$$\Rightarrow d(x_n, x_{n+1}) \leq k^n d(x_0, x_1) \quad \text{----- (A)}$$

Thus T is a contractive mapping

Now, we show that $\{x_n\}_{n=1}^{\infty}$ is a Cauchy sequence in X

Let $m, n \in \mathbb{N}, m > n$

$$d(x_n, x_m) \leq s \{d(x_n, x_{n+1}) + d(x_{n+1}, x_m)\}$$

$$\begin{aligned} d(x_n, x_m) &\leq s d(x_n, x_{n+1}) + s d(x_{n+1}, x_m) \\ &\leq s d(x_n, x_{n+1}) + s^2 \{d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_m)\} \\ &\leq s d(x_n, x_{n+1}) + s^2 \{d(x_{n+1}, x_{n+2}) + s^2 d(x_{n+2}, x_m)\} \\ &\leq s k^n d(x_0, x_1) + s^2 k^{n+1} d(x_0, x_1) + s^3 k^{n+3} d(x_0, x_1) + \dots \\ &\leq s k^n d(x_0, x_1) [1 + s k + (s k)^2 + (s k)^3 + \dots] \\ &\leq \frac{s k^n}{1 - s k} d(x_0, x_1) \end{aligned}$$

$$d(x_n, x_m) \leq \frac{s k^n}{1 - s k} d(x_0, x_1)$$

Then $\lim_{n \rightarrow \infty} d(x_n, x_m) = 0$ as $n, m \rightarrow \infty$

Since $k < 1$

$$\lim_{n \rightarrow \infty} \frac{s k^n}{1 - s k} d(x_0, x_1) = 0 \text{ as } n, m \rightarrow \infty \quad \text{----- (B)}$$

Hence $\{x_n\}_{n=1}^{\infty}$ is a Cauchy sequence in X

Since $\{x_n\}_{n=1}^{\infty}$ is a Cauchy sequence

$$\{x_n\} \text{ converges to } x^* \in X$$

Now, we show that x^* is the fixed point of T

$$d(x^*, Tx^*) \leq s\{d(x^*, x_{n+1}) + d(x_{n+1}, Tx^*)\}$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + sd(x_{n+1}, Tx^*)$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + sd(Tx_n, Tx^*)$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + sd(Tx_n, Tx^*)$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + s\alpha d(x_n, Tx_n) + s\alpha d(x^*, Tx^*)$$

$$+ s\beta d(x_n, Tx_n) + s\beta d(x^*, Tx_n) + s\gamma d(x^*, Tx^*) + s\gamma d(x^*, Tx_n)$$

$$+ s\delta d(x_n, Tx^*) + s\delta d(x^*, Tx_n)$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + s\alpha d(x_n, x_{n+1}) + s\alpha d(x^*, Tx^*)$$

$$+ s\beta d(x_n, x_{n+1}) + s\beta d(x^*, x_{n+1}) + s\gamma d(x^*, Tx^*)$$

$$+ s\gamma d(x^*, x_{n+1}) + s\delta d(x_n, Tx^*) + s\delta d(x^*, x_{n+1})$$

$$d(x^*, Tx^*) \leq sd(x^*, x_{n+1}) + s^2\alpha d(x_n, x^*) + s^2\alpha d(x^*, x_{n+1}) + s\alpha d(x^*, Tx^*)$$

$$+ s^2\beta d(x_n, x^*) + s^2\beta d(x^*, x_{n+1}) + s\beta d(x^*, x_{n+1}) + s\gamma d(x^*, Tx^*)$$

$$+ s\gamma d(x^*, x_{n+1}) + s^2\delta d(x_n, x^*) + s^2\delta d(x^*, Tx^*) + s\delta d(x^*, x_{n+1})$$

$$d(x^*, Tx^*) - s\alpha d(x^*, Tx^*) - s\gamma d(x^*, Tx^*) - s^2\delta d(x^*, Tx^*)$$

$$\leq sd(x^*, x_{n+1}) + s^2\alpha d(x^*, x_{n+1}) + s^2\beta d(x^*, x_{n+1})$$

$$+ s\beta d(x^*, x_{n+1}) + s\gamma d(x^*, x_{n+1}) + s\delta d(x^*, x_{n+1}) + s^2\alpha d(x_n, x^*)$$

$$+ s^2\beta d(x_n, x^*) + s^2\delta d(x_n, x^*)$$

$$(1 - s\alpha - s\gamma - s^2\delta) d(x^*, Tx^*)$$

$$\leq (s + s^2\alpha + s^2\beta + s\beta + s\gamma + s\delta) d(x^*, x_{n+1})$$

$$+ (s^2\alpha + s^2\beta + s^2\delta) d(x_n, x^*)$$

$$d(x^*, Tx^*) \leq \frac{s+s^2\alpha+s^2\beta+s\beta+s\gamma+s\delta}{(1-s\alpha-s\gamma-s^2\delta)} d(x^*, x_{n+1}) + \frac{s^2\alpha+s^2\beta+s^2\delta}{1-s\alpha-s\gamma-s^2\delta} d(x_n, x^*)$$

Taking $\lim_{n \rightarrow \infty}$, we get

$$\lim_{n \rightarrow \infty} d(x^*, Tx^*) = 0$$

$$\Rightarrow Tx^* = x^*$$

\Rightarrow x^* is the fixed point of T

Uniqueness of fixed point

We have to show that x^* is unique fixed point of T

Let us suppose that x' is another fixed point of T Then $Tx' = x'$

and $(x^*, x') = d(Tx^*, Tx')$

$(x^*, x') = (Tx^*, Tx')$

$$\begin{aligned} &\leq \alpha d(x^*, Tx^*) + \alpha d(x', Tx') + \beta d(x^*, Tx^*) \\ &+ \beta d(x', Tx^*) + \gamma d(x', Tx') + \gamma d(x', Tx^*) \\ &+ \delta d(x^*, Tx') + \delta d(x', Tx^*) \end{aligned}$$

$d(x^*, x') \leq \alpha d(x^*, x^*) + \alpha d(x', x') + \beta d(x^*, x^*)$

$$\begin{aligned} &+ \beta d(x', x^*) + \gamma d(x', x') + \gamma d(x', x^*) \\ &+ \delta d(x^*, x') + \delta d(x', x^*) \end{aligned}$$

$$\leq \beta d(x', x^*) + \gamma d(x', x^*) + \delta d(x^*, x') + \delta d(x', x^*)$$

$d(x^*, x') \leq (\beta + \gamma + 2s\delta) d(x^*, x')$

which is contradiction. Therefore $x^* = x'$.

Theorem 3.2

Let (X, d) be a complete b-metric space. Let T be a self mapping on X such that $d(Tx, Ty) \leq \alpha \{d(x, Tx) + d(y, Ty)\} + \beta \{d(x, Ty) + d(y, Tx)\} + \gamma \{d(x, y) + d(Tx, Ty)\}$

where $\alpha, \beta, \gamma > 0$ such that

$\beta + 2s\gamma < 1, \forall x, y \in X$ and $s \geq 1$ then T has a unique fixed point of T.

Proof: Same as Theorem 3.1

Acknowledgement:

The authors are grateful to the Monica Boriceam and Agrawal Swati for their valuable suggestions.

References:

- [1] Agrawal Swati, Qureshi K. and Nena Jyoti A fixed point theorem for b-metric space International Journal of Pure and Applied Mathematical Sciences Vol. 9 (2016), 45-50.
- [2] Bakhtin, I.A., The contraction mapping principle in almost metric spaces, *Funct. Anal.*, 30, Unianowsk, Gos. Ped. Inst., (1989), 26-37.
- [3] Banach, S., Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, *Fund. Math.* 3 (1922), 133-181.
- [4] Bota, M., Molnar, A. and Varga, C., On ekeland's variational principle in b-metric spaces, *Fixed Point Theory* 12 (2011), no, 2, 21-28.
- [5] Boriceanu, M., Fixed point theory for multivalued generalized contraction on a set with two b-metric, *studia, univ Babeş, Bolya: Math, Liv(3)* (2009), 1-14.
- [6] Czerwik, S., Contraction mappings in b-metric spaces, *Acta Mathematica et Informatica Universitatis Ostraviensis* 1 (1993), 5-11.
- [7] Czerwik, S., Non-linear set valued contraction mappings in b-metric spaces. *Atti sem math fiq Univ. Modena*, 46(2), (1998), 263-276.
- [8] Kir, Mehmet, Kiziltune, Hukmi, on some well known fixed point theorems in B-metric space, *Turkish journal of analysis and number theory*, 2013, vol. 1, no. 1, 13-16.
- [9] Pacurar, M., Sequences of almost contractions and fixed points in b-metric spaces, *Analele Universităţii de Vest, Timisoara, Seria Matematică Informatica XLVIII* (2010), no. 3, 125-137.